MAZA CONSTRU			La Vega ISD	Date Printed:	9-Apr-25
0010110			or Change #34 (CO #01)	Time Printed:	8:19 AM
		-	Drainage Improvements	Prepared by:	Eddie Mazanec I
e	xcavate down	existing turf in area a	ion of Change bove drainage box in football field, te lid. Also includes re-installation of turf ch is installed	Add/(Deduct)	\$9,500.00
		ocate existing storm I ete pipe within LVISD	ines and video current conditions of all property	Add/(Deduct)	\$8,351.00
		bris from all 800 LF o s to complete this wo	of concrete pipes within LVISD property rk)	Add/(Deduct)	\$7,920.00
w	/in 6" of finish	-	te junction box, install manhole rings up to nd set manhole lid for permanent access intenance	Add/(Deduct)	\$7,260.00
			has been cleaned out of all 800LF of per request from City of Bellmead	Add/(Deduct)	\$8,351.00
Item #6				Add/(Deduct)	\$0.00
Item #7				Add/(Deduct)	\$0.00
Item #8				Add/(Deduct)	\$0.00
Item #9				Add/(Deduct)	\$0.00
Item #10				Add/(Deduct)	\$0.00
				Total: 10% Mark-up	\$41,382 \$4,138
				Total Cost:	\$45,520
Number of Days Add	ed to Contract:	<u>0</u>		Excludes sales t	ax and remodel ta
Items Accepted:			_		
Owner's Authorization	n I	Date	Architect's Authorization	Date	_



Project Name: La Vega HS - Multipurpose Pavilion

## PROPOSAL

Hellas Project Number: 20240595	
Architect/Eng/Owner Project Number:	
Architect/Engineer:	Owner/CM: La Vega ISD
Address: 12000 W Parmer Lane	Address: 555 TX-340 Loop
City: Austin	City: Waco
State/Zip:Texas 78613	State/Zip: TX 76705
Phone: (512) 250-2910	Phone:

DESCRIPTION OF CHANGE (Attach additional pages if required)					Increase In	
Track Protection (Labor & Materials)					2,500.00	
Cut Existing Turf (Labor)						
Restore Turf as Removeable Piece (Labor)				\$	1,750.00	
Assistance with Excavation & Any Additiona	l Stone	e (Labor & Material	s)	\$	3,500.00	
Exclusions: Equipment						
Subtotal						
Contract Start Date Contract Information						
		Substantial				
Contract Time:		Completion Date	Original Contract Sum	Ş	1,726,801.00	
Original Contract Days			Change Order		\$14,110.34	
Present Contract Time incl C/O 0			Present Contract Amount		1,740,911.34	
This Change Add (Deduct)			This CO Add(Add)		\$9,500.00	
New Contract Days			New Contract Sum	\$	1,750,411 24	

This Change Order is an amendement to the Contract Documents between Contractor and the Owner, and all contract provisions shall apply unless specifically exempted. The amount and time change designated are the maximum agreed to by both the Owner and the Contractor for this change.

RECOMMENDED	APPROVED	APPROVED	
Signature, Architect/Engineer	Signature, Contractor	Signature, Owner/CM	
Printed Name	Printed Name	Printed Name	
(Date)	(Date)	(Date)	

	54-666-7117						
	54-666-7118 54-666-7119						
email	mike@barnettco	ntracting com					
Proposal to :	<u>mille e barrietteo</u>	<u>Intracting.com</u>					
MAZANEC CONS	TRUCTION		JOB	LAVEGA H WACO, TX	HIGH SCH	IOOL	
Attention			Bid Date				
EDDIE				3/24/2	025	REVISED 4/07/25	
Fax Number			Phone Nur	mber			
REVISED	Reply ASAP	Please Co	omment	Preliminary		Scope only for review	
ADDENDA ACKNOWLED Proposal for :	GED NONE						
	RI	EQUEST F					
	TUAL COSTS T				ES		
2/24/2025 CAMERA DRAINAGE L	INES 17	95 LF	@	\$	1.85	\$3,320.75	
3/7/2025	EXCAVATE	AND CUT ACC	CESS PO	DINT FOR CAN	IERA		
CAT 416 BACKHOE		4 HR	@ @	\$	150.00	\$600.00	\$7,592.0
HAND LABOR		24 HR	@	\$	35.00	\$840.00	+ OH&P
3/10/2025 CAMERA DRAINAGE L	INES 12	60 LF	@	\$	1.85	\$2,331.00	
LOCATE JCT BOX		1 EA	@	\$ \$	500.00	\$500.00	
		EST COST T	O CLEAN				4
HEAVY VACTOR TRK			@	\$	300.00	\$7,200.00+	OH&P
		T COST TO UI		JCT BOX			
MINI EXCAVATOR / BU			@	\$	185.00	\$1,850.00	\$6,600.0
HAND LABOR			@	<u>\$</u>	35.00	\$1,400.00	+ OH&P
INSTALL JCT BOX LID FURNISH STORM MH		1 EA 1 EA	@ @	\$ \$	1,500.00 1,850.00	\$1,500.00 \$1,850.00	+ Or idi
400/ 0118 D						<u> </u>	
10% OH&P						\$2,140.00	
NOTE: EXCLUDES SE ADD 2.5% IF WE BONI		AND LANDSC	APING.				
WE PROPOSE hereby to furn		uipment and insur	ance - com	plete in accordanc \$23,5		pecifications	
NOTE: PROPOSAL MAY I					U 1 . 1 U		l i i i i i i i i i i i i i i i i i i i
NOTE: PROPOSAL MAY E	<b>10</b> DAYS		AUTHORIZ	ZED SIGNATURE			
<subject award<="" td="" to=""><td></td><td></td><td>Mike</td><td>Barnett</td><td></td><td></td><td></td></subject>			Mike	Barnett			
ACCEPTANCE of PRO	OPOSAL		AUTHORIZ	ZED SIGNATURE			
The above prices, specifications and co		nereby accepted		-			
You are authorized to do the work as spe							
Payment will be made : N WITH MONTHLY PROGR	ET ON COMPLE ESS PAYMENTS N		DATE		]		
		LaVega FH R	F <u>C 6 (dr</u> a	ainage locates	costs) 4/7/2	2025	

BARNETT CONTRACTING, INC.

7703 Bagby

Waco, Texas 76712-6924

## PROPOSAL

2413-C6

MAZANEC CONSTRUCTION La Vega ISD   Request For Change #34 (CO #01) LVHS Site Drainage Improvements Mazanec Construction Costs	Date Prepared:8-Apr-25Date Printed:8-Apr-25Time Printed:11:30 AMPrepared by:Eddie Mazanec IV
Labor: Supervision (16 hours @ \$32.00/hr.)	\$512.00
Labor (40 hours @ 24.00 / hr.)	\$960.00
Labor (40 hours @ \$22.00 / hr.)	\$880.00
<b>Equipment/Materials:</b> Skytrak (1 wk @ \$1065 / wk) Crane Mats (25 mats x \$145 / mo)	\$1,065.00 \$3,625.00
Total Change	\$7,042

\_\_\_\_\_